

BID OPENING: 10/31/2019 PRICE OPENING: 11/5/2019 MANAGER: D. ROBINSON

ITB No: 19-101138

		Company:			m Home on Co. Inc.	Plenary A	Assets LLC	STR	S, LLC.	Get Sta	rted, LLC
ITEM No.	Department/Location	Estimated No. of Stalls	(A) No. of Services Per Month	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost
1	Maloof Administration Building (6 floors) 1300 Commerce Dr., Decatur, GA 30030	18	8	\$113.58	\$908.64	\$181.80	\$1,454.40	\$4.34	\$624.96	\$90.00	\$720.00
2	Maloof Annex 1300 Commerce Dr., Decatur, GA 30030	7	4	\$44.17	\$176.68	\$70.70	\$282.80	\$4.34	\$121.52	\$35.00	\$140.00
3	Clark Harrison Building (3 floors) 330 E. Ponce de Leon Avenue, Decatur, Ga 30030	9	4	\$56.79	\$227.16	\$90.90	\$363.60	\$4.34	\$156.24	\$45.00	\$180.00
4	Public Defenders Offices (2 floors) 320 Church Street, Decatur, GA 30030	16	8	\$100.96	\$807.68	\$161.60	\$1,292.80	\$4.34	\$555.52	\$80.00	\$640.00
5	New Courthouse Judicial Tower (7 floors) 1000 N. McDonough Street, Decatur, GA 30030	85	8	\$536.35	\$4,290.80	\$858.50	\$6,868.00	\$4.34	\$2,951.20	\$425.00	\$3,400.00
6	New Courthouse (Admin Tower - 9 floors) 556 N. McDonough Street, Decatur, GA 30030	40	8	\$252.40	\$2,019.20	\$404.00	\$3,232.00	\$4.34	\$1,388.80	\$200.00	\$1,600.00
7	Historic Courthouse - Old Courthouse 101 Court Square, Decatur, GA 30030	8	4	\$50.48	\$201.92	\$80.80	\$323.20	\$4.34	\$138.88	\$40.00	\$160.00
8	DeKalb County Library 215 Sycamore Street, Decatur, GA 30030	9	4	\$56.79	\$227.16	\$90.90	\$363.60	\$4.34	\$156.24	\$45.00	\$180.00
9	North DeKalb Cultural Arts Center 5339 Commerce Drive, Decatur, GA 30030	8	4	\$50.48	\$201.92	\$80.80	\$323.20	\$4.34	\$138.88	\$40.00	\$160.00
	Facilities Management 4380 Memorial Dr., Suite 100, Decatur, GA 30032	1	4	\$6.31	\$25.24	\$10.10	\$40.40	\$4.34	\$17.36	\$5.00	\$20.00
11	Tax Commissioner's Building 4415 Memorial Drive, Decatur, GA 30032	18	4	\$113.58	\$454.32	\$181.80	\$727.20	\$4.34	\$312.48	\$90.00	\$360.00



BID OPENING: 10/31/2019 PRICE OPENING: 11/5/2019 MANAGER: D. ROBINSON

ITB No: 19-101138

		Company:			m Home on Co. Inc.	Plenary A	Assets LLC	STR	S, LLC.	Get Started, LI	
ITEM No.	Department/Location	Estimated No. of Stalls	(A) No. of Services Per Month	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost
12	State Traffic Court 3630 Camp Road, Decatur, GA 30032	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$104.16	\$30.00	\$120.00
13	Juvenile Justice Center 4309 Camp Circle, Decatur, GA 30032	35	8	\$220.85	\$1,766.80	\$353.50	\$2,828.00	\$4.34	\$1,215.20	\$175.00	\$1,400.00
14	Public Safety (Magistrate Court) 3630 Camp Circle, Decatur, GA 30032	45	8	\$283.95	\$2,271.60	\$454.50	\$3,636.00	\$4.34	\$1,562.40	\$225.00	\$1,800.00
15	Roads and Drainage 729 Camp Road, Decatur, GA 30032	8	4	\$50.48	\$201.92	\$80.80	\$323.20	\$4.34	\$138.88	\$40.00	\$160.00
16	Police/911/Animal Control Areas (Bobby Burgess) 3630 Camp Circle, Decatur, GA 30032	7	4	\$44.17	\$176.68	\$70.70	\$282.80	\$4.34	\$121.52	\$35.00	\$140.00
17	Sanitation Administrative Building 3720 Leroy Scott Dr., Decatur, GA 30032	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$108.16	\$30.00	\$120.00
18	Central Collection Lot 3689 Camp Cir., Decatur, GA 30032	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00
19	Sheriff's Head Quarters and Miscellaneous 4415 Memorial Drive, Decatur, GA 30032	38	8	\$239.78	\$1,918.24	\$383.80	\$3,070.40	\$4.34	\$1,319.36	\$190.00	\$1,520.00
20	South Collection Lot (Admin. Trailer D&E) 1755 Fairlake Dr., Decatur, GA 30034	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
21	Commercial Services 1749 Fairlake Dr., Decatur, GA 30034	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00
22	Beautification 1755 Fairlake Dr., Decatur, GA 30034	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00
23	Police (South Precinct -Uniform/CSI/Supply) 2842 H F Shepherd Drive, Decatur, GA 30034	10	4	\$63.10	\$252.40	\$101.00	\$404.00	\$4.34	\$173.60	\$50.00	\$200.00



BID OPENING: 10/31/2019 PRICE OPENING: 11/5/2019 MANAGER: D. ROBINSON

ITB No: 19-101138

Company:				m Home on Co. Inc.	Plenary Assets LLC		STRS, LLC.		Get Started, LLC		
ITEM No.	Department/Location	Estimated No. of Stalls	(A) No. of Services Per Month	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost
7/1	Porter Sanford Arts Center 3181 Rainbow Drive, Decatur, GA 30034	23	8	\$145.13	\$1,161.04	\$232.30	\$1,858.40	\$4.34	\$798.56	\$115.00	\$920.00
	DeKalb Animal Shelter 3280 Chamblee-Dunwoody Rd, Chamblee, GA 30034	5	4	\$31.55	\$126.20	\$50.50	\$202.00	\$4.34	\$86.80	\$25.00	\$100.00
	South DeKalb Tag Office South DeKalb Mall, Decatur, GA 30034	1	4	\$6.31	\$25.24	\$10.10	\$40.40	\$4.34	\$17.36	\$5.00	\$20.00
27	East Collection Lot 1750 Rogers Lake Rd., Lithonia, GA 30058	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00
28	Police (East Precinct) 2484 Bruce Street, Lithonia, GA 30058	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
29	Police Training Facility (Academy) 2484 Bruce Street, Lithonia, GA 30058	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$52.08	\$10.00	\$40.00
30	Community Center Library 2484 Bruce Street, Lithonia, GA 30058	4	4	\$25.24	\$100.96	\$40.40	\$161.60	\$4.34	\$104.16	\$20.00	\$80.00
31	Lou Walker Senior Center, 2538 Panola Road, Lithonia, GA 30058	18	8	\$113.58	\$908.64	\$181.80	\$1,454.40	\$4.34	\$624.96	\$90.00	\$720.00
	Hamilton Human Services Center 3262 Chestnut Street, Scottdale GA 30079	10	4	\$63.10	\$252.40	\$101.00	\$404.00	\$4.34	\$173.60	\$50.00	\$200.00
33	Administration Building, 1580 Roadhaven Drive, Stone Mtn, GA 30083	10	4	\$63.10	\$252.40	\$101.00	\$404.00	\$4.34	\$173.60	\$50.00	\$200.00
34	Construction & Maintenance 1580 Roadhaven Dr, Stone Mtn, GA 30083	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$104.16	\$30.00	\$120.00
35	Annex Building 1641 Roadhaven Drive, Stone Mtn, GA 30083	3	4	\$18.93	\$75.72	\$30.30	\$121.00	\$4.34	\$52.08	\$15.00	\$60.00



BID OPENING: 10/31/2019 PRICE OPENING: 11/5/2019 MANAGER: D. ROBINSON

ITB No: 19-101138

Company				Latham Home Sanitation Co. Inc.		Plenary Assets LLC		STRS, LLC.		Get Started, LLC	
ITEM No.	Department/Location	Estimated No. of Stalls	(A) No. of Services Per Month	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost
36	Police (Headquarters) 1960 West Exchange Place, Tucker, GA 30084	38	8	\$239.78	\$1,918.24	\$383.80	\$3,070.40	\$4.34	\$1,319.36	\$190.00	\$1,520.00
37	Police (Tucker Precinct) 440 Lawrenceville Hwy, Tucker, GA 30084	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$104.16	\$30.00	\$120.00
38	Fire Rescue Headquarters 1950 West Exchange Place, Tucker, GA 30084	23	8	\$145.13	\$1,161.04	\$232.20	\$1,858.40	\$4.34	\$798.56	\$115.00	\$920.00
39	Seminole Road Landfill 4203 Clevemont Rd., Ellenwood, GA 30294	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
40	Renewable Fuel Facility 4295 Clevemont Rd., Ellenwood, GA 30294	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
41	Code Enforcement 4540 Flakes Mill Road, Ellenwood, GA 30294	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$104.16	\$30.00	\$120.00
42	Sugar Creek Golf Club 2706 Bouldercrest Rd, Atlanta, GA 30315	6	4	\$37.86	\$151.44	\$60.60	\$242.40	\$4.34	\$104.16	\$30.00	\$120.00
43	William T. White Family Center 39 Rogers Street, Atlanta, GA 30317	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
44	DeKalb Atlanta Health Center 30 Warren Street, Atlanta, GA 30317	19	8	\$119.89	\$959.12	\$191.90	\$1,535.20	\$4.34	\$659.68	\$95.00	\$760.00
45	DeKalb Atlanta Senior Center 25 Warren Street, Atlanta, GA 30317	3	4	\$18.93	\$75.72	\$30.30	\$121.20	\$4.34	\$52.08	\$15.00	\$60.00
46	Kirkwood Mental Health Facility, 23 Warren Street, Atlanta, GA 30317	10	4	\$63.10	\$252.40	\$101.00	\$404.00	\$4.34	\$173.60	\$50.00	\$200.00
47	DeKalb North Tag Office 1355 Dresden Drive, Atlanta, GA 30319	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00



BID OPENING: 10/31/2019 PRICE OPENING: 11/5/2019

MANAGER: D. ROBINSON

ITB No: 19-101138

Company:				m Home on Co. Inc.	Plenary Assets LLC		STRS, LLC.		Get Started, LLC			
ITEM No.	Department/Location	Estimated No. of Stalls	(A) No. of Services Per Month	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	Cost Per Service	Extended Cost	
48	North Transfer Station (Admin Building) 4600 Buford Hwy., Chamblee, GA 30341	1	4	\$6.31	\$25.24	\$10.10	\$40.40	\$4.34	\$17.36	\$5.00	\$20.00	
49	North Collection Lot (Admin & Locker Traile) 2315 Chamblee-Tucker Rd., Chamblee, GA 30341	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00	
50	Dunwoody Library, 5339 Chamblee Dunwoody Rd. Atlanta, GA 30346	5	4	\$31.55	\$126.20	\$50.50	\$202.00	\$4.34	\$86.80	\$25.00	\$100.00	
51	North DeKalb (Police Precinct) 4453 Ashford Dunwoody Rd, Dunwoody, GA 30346	2	4	\$12.62	\$50.48	\$20.20	\$80.80	\$4.34	\$34.72	\$10.00	\$40.00	
52	Scott Candler Filter Plant 4830 Winters Chapel Road, Doraville, GA 30360	7	4	\$44.17	\$176.68	\$70.70	\$282.80	\$4.34	\$121.52	\$35.00	\$140.00	
53	Snapfinger Lab 4830 Winters Chapel Road, Doraville, GA 30360	7	4	\$44.17	\$176.68	\$70.70	\$282.80	\$4.34	\$121.52	\$35.00	\$140.00	
	Grand Total	616			\$25,593.36		\$40,965.60		\$17,659.12		\$20,280.00	
Numbe	Number of Bids Received:				4	•				•		
	Separate Sealed Price Schedule (Yes/No)				Yes		Yes		Yes		Yes	
	LSBE Mandatory Meeting:				/es		/es		Yes		Yes	
LSBE 1	LSBE Participation Benchmark/GFE:				.0%	2	.0%	2	20%	4	40%	